
Direction:
Find the missing term (?) in the following number series.

Question No. 1

8    20    36     56     80    ?

Options :

1. 105

2. 110

3. 108

4. 112

5. 115

Answer : 108

Direction:
Find the missing term (?) in the following number series.

Question No. 2

7       14       42       168        840        ?

Options :

1. 4960

2. 5080

3. 4920

4. 5040

5. None of these

Answer : 5040

Direction:
Find the missing term (?) in the following number series.
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Question No. 3

27      32      42       57       77      ?

Options :

1. 102

2. 92

3. 112

4. 99

5. None of these

Answer : 102

Direction:
Find the missing term (?) in the following number series.

Question No. 4

5     3      3      5      15     ?

Options :

1. 60

2. 69

3. 75

4. 65

5. 70

Answer : 69

Direction:
Find the missing term (?) in the following number series.

Question No. 5

640     322      164       86      48      ?
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Options :

1. 30

2. 32

3. 34

4. 36

5. 40

Answer : 30

Direction:
Find the missing term (?) in the following number series.

Question No. 6

140     300     380      420      440      ?

Options :

1. 460

2. 480

3. 450

4. 500

5. 510

Answer : 450

Question No. 7

Find the total distance covered by boat in still water in 8 hours if the speed of boat in upstream and in downstream

is 10 km/h and 15 km/h respectively?

Options :

1. 80 km

2. 96 km

3. 120 km
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4. 100 km

5. 104 km

Answer : 100 km

Question No. 8

C is three years older than B, while ratio of age of A to that of B four years ago was 3: 5. If age of A eight years later

will be equal to the age of C three years ago then find present age of C?

Options :

1. 24 years

2. 25 years

3. 30 years

4. 27 years

5. 20 years

Answer : 27 years

Question No. 9

Veer can complete a work in X days and Ayush is 40% more efficient than Veer. If both complete 4/7th of work

together and get Rs. 1200 for it, then find difference between wage share of Veer and Ayush?

Options :

1. Rs.240

2. Rs.180

3. Rs.160

4. Rs.200

5. Rs.400

Answer : Rs.200

Question No. 10
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A shopkeeper marked up an article 60% above cost price and sells it at Rs. 960 after allowing discount of 25%. Find

marked price of article, if profit of shopkeeper is Rs. 160?

Options :

1. Rs.1160

2. Rs.1280

3. Rs.1320

4. Rs.1480

5. Rs.1200

Answer : Rs.1280

Question No. 11

P and Q invested a total of Rs.32000 in a business. Period of investment of P & Q is 10 months and 8 months

respectively. If at the end of the year, P & Q received profit in the ratio 3:4 respectively, then find amount invested

by P.

Options :

1. 20000

2. 18000

3. 14000

4. 16000

5. 12000

Answer : 12000

Question No. 12

Sum of diameter and circumference of a circle is 232 cm, the find area of circle.

Options :

1. 2496 sq.cm

2. 2448 sq.cm
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3. 2424 sq.cm

4. 2464 sq.cm

5. 2484 sq.cm

Answer : 2464 sq.cm

Question No. 13

In what ratio, tea costing Rs 35 per kg should be mixed with tea costing Rs 28 per kg so that a profit of 20% is

earned when the mixture is sold at Rs 36 per kg?

Options :

1. 2:5

2. 3:5

3. 5:2

4. 3:4

5.

Answer : 2:5

Question No. 14

There are 4 numbers – A, B, C & D. B is 25% more than A and D is equal to average of A & C. Ratio of A to C is 3 : 4

and C is 5 more than B. Find value of {[(B - A) – (C – D)] × 18}.

Options :

1. 108

2. 72

3. 126

4. 90

5. 100

Answer : 90
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Question No. 15

The interest earned by Veer at SI is 24% of the sum invested. If he had invested for 4 years more, then interest

received is 150% more than that of earlier. What is the rate of interest?

Options :

1. 9%

2. 7.5%

3. 8%

4. 10%

5. 12.5%

Answer : 9%

Question No. 16

75% of A is equal to 40% of C and 80% of B is equal to 100% of A. If sum of 50% of B and 30% of C is equal to 95,

then find 80% of A.

Options :

1. 72

2. 120

3. 80

4. 64

5. 96

Answer : 64

Question No. 17

The average weight of 12 players in a team is increased by 1/3 kg, when one of the players whose weight is 55 kg is

replaced by another player. What is the weight of the new player?

Options :
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1. 57 kg

2. 59 kg

3. 62 kg

4. 65 kg

5. None of these

Answer : 59 kg

Question No. 18

Two men A and B started a job in which A was thrice as good as B and therefore took 60 days less than B to finish

the job. How many days will they take to finish the job, if they start working together?

Options :

1. 15 days

2. 20 days

3. 22.5 days

4. 25 days

5. None of these

Answer : 22.5 days

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 19

20% of 10% of 900 + 84/12 = ?2

Options :

1. 4

2. 3

3. 6

4. 2

5. 5
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Answer : 5

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 20

5555 ÷ 11 ÷ 5 = 100 + ?

Options :

1. 1

2. 2

3. 3

4. 0

5. 4

Answer : 1

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 21

2(1/3) + 2(5/6) – 1(1/2) = ? – 6(1/6)

Options :

1. 9(1/6)

2. 9(5/6)

3. 8(1/6)

4. 8(5/6)

5. 9(1/2)

Answer : 9(5/6)

Direction:
What should come in place of question mark (?) in the following questions?
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Question No. 22

1024 ÷ 32 = 2(1/2)×?

Options :

1. 5

2. 8

3. 14

4. 10

5. 12

Answer : 10

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 23

1231 + 1312 + 2113 – 3211 = ?

Options :

1. 1345

2. 1525

3. 1445

4. 1215

5. 1425

Answer : 1445

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 24

√121 + √961− √289 =?2
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Options :

1. 3

2. 5

3. 7

4. 4

5. 6

Answer : 5

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 25

20% of 240 + 18% of 200 = ?

Options :

1. 80

2. 83

3. 89

4. 94

5. 84

Answer : 84

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 26

121/? = ?/144

Options :

1. 112

2. 132
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3. 144

4. 121

5. 128

Answer : 132

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 27

75% of 80 + 12% of 600 + 54 = ?

Options :

1. 179

2. 183

3. 186

4. 202

5. 192

Answer : 186

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 28

(11/12) × (18/22) × (4/3) + 3 = ?2

Options :

1. 4

2. 3

3. 1

4. 2

5. 5

Answer : 2
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Direction:
What should come in place of question mark (?) in the following questions?

Question No. 29

10 × 100 ÷ 5 + 9 = ?

Options :

1. 65

2. 170

3. 209

4. 310

5. None of these

Answer : 209

Direction:
What should come in place of question mark (?) in the following questions?

Question No. 30

48 ÷ 6 × √25 + 13 × 8 = ?

Options :

1. 104

2. 124

3. 114

4. 144

5. 244

Answer : 144

Direction:
Study the pie chart carefully and answer the following questions given below:

The bar graph shows the three different types of pizzas sold by Pizza Hut in four different weeks.
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Question No. 31

What is the total number of all pizzas sold in the first two weeks?

Options :

1. 630

2. 730

3. 830

4. 430

5. None of these

Answer : 830

Direction:
Study the pie chart carefully and answer the following questions given below:

The bar graph shows the three different types of pizzas sold by Pizza Hut in four different weeks.
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Question No. 32

What is the ratio between the number of Margherita pizzas sold in third and fourth weeks, and the number of

CHEESE N CORN pizzas sold in first and third weeks?

Options :

1. 3∶4

2. 4∶3

3. 1∶4

4. 3∶5

5. None of these

Answer : 3∶4

Direction:
Study the pie chart carefully and answer the following questions given below:

The bar graph shows the three different types of pizzas sold by Pizza Hut in four different weeks.
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Question No. 33

What is the average number of Margherita sold in the second, third and fourth weeks?

Options :

1. 150

2. 160

3. 140

4. 120

5. None of these

Answer : 140

Direction:
Study the pie chart carefully and answer the following questions given below:

The bar graph shows the three different types of pizzas sold by Pizza Hut in four different weeks.
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Question No. 34

The number of Golden Delight pizzas sold in the first and second week is what percent more/less than the number

of CHEES N CORN pizzas sold in the first and second week?

Options :

1. 7.14% more

2. 6.66% more

3. 6.66% less

4. 7.14% less

5. None of these

Answer : 6.66% less

Direction:
Study the pie chart carefully and answer the following questions given below:

The bar graph shows the three different types of pizzas sold by Pizza Hut in four different weeks.
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Question No. 35

What is the difference between the number of all pizzas sold by Pizza Hut in the first week and the fourth week?

Options :

1. 20

2. 10

3. 30

4. 40

5. None of these

Answer : 10

Direction:

Answer the following questions according to the given statements:

There are eight persons M, N, O, P, Q, R, S, and T, who live on four different floors among floor 1, floor 2, floor 3 and

floor 4. Each floor has two different flats viz. flat 1 and flat 2. There are 2 flats on each floor flat 1 – flat 2 from left to

right in such a way that flat 1 of the fourth floor is exactly above flat 1 of the third floor and flat 1 of the third floor is

exactly above flat 1 of the second floor and other flats are situated in the same way.
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O lives one floor above the floor on which N lives. R lives with N who lives two floors below P. N lives on the second

floor. Q lives in flat 2 of the first floor. S lives on the third floor but not in flat 1. T does not live on the fourth floor

but in flat 1. N lives in even numbered flat. M and O live in flat 1 but on different floors.

Question No. 36

Who live on the fourth floor of flat 2?

Options :

1. T

2. O

3. M

4. Q

5. P

Answer : P

Direction:

Answer the following questions according to the given statements:

There are eight persons M, N, O, P, Q, R, S, and T, who live on four different floors among floor 1, floor 2, floor 3 and

floor 4. Each floor has two different flats viz. flat 1 and flat 2. There are 2 flats on each floor flat 1 – flat 2 from left to

right in such a way that flat 1 of the fourth floor is exactly above flat 1 of the third floor and flat 1 of the third floor is

exactly above flat 1 of the second floor and other flats are situated in the same way.

O lives one floor above the floor on which N lives. R lives with N who lives two floors below P. N lives on the second

floor. Q lives in flat 2 of the first floor. S lives on the third floor but not in flat 1. T does not live on the fourth floor

but in flat 1. N lives in even numbered flat. M and O live in flat 1 but on different floors.

Question No. 37

Which of the following given pair is different from rest?

Options :

1. T and O
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2. S and Q

3. O and R

4. Q and S

5. N and P

Answer : O and R

Direction:

Answer the following questions according to the given statements:

There are eight persons M, N, O, P, Q, R, S, and T, who live on four different floors among floor 1, floor 2, floor 3 and

floor 4. Each floor has two different flats viz. flat 1 and flat 2. There are 2 flats on each floor flat 1 – flat 2 from left to

right in such a way that flat 1 of the fourth floor is exactly above flat 1 of the third floor and flat 1 of the third floor is

exactly above flat 1 of the second floor and other flats are situated in the same way.

O lives one floor above the floor on which N lives. R lives with N who lives two floors below P. N lives on the second

floor. Q lives in flat 2 of the first floor. S lives on the third floor but not in flat 1. T does not live on the fourth floor

but in flat 1. N lives in even numbered flat. M and O live in flat 1 but on different floors.

Question No. 38

Who lives on the same floors?

Options :

1. T and S

2. R and N

3. O and N

4. Q and P

5. None of the above

Answer : R and N

Direction:

Answer the following questions according to the given statements:

LIC ADO Prelims 2019 Previous Year Paper



There are eight persons M, N, O, P, Q, R, S, and T, who live on four different floors among floor 1, floor 2, floor 3 and

floor 4. Each floor has two different flats viz. flat 1 and flat 2. There are 2 flats on each floor flat 1 – flat 2 from left to

right in such a way that flat 1 of the fourth floor is exactly above flat 1 of the third floor and flat 1 of the third floor is

exactly above flat 1 of the second floor and other flats are situated in the same way.

O lives one floor above the floor on which N lives. R lives with N who lives two floors below P. N lives on the second

floor. Q lives in flat 2 of the first floor. S lives on the third floor but not in flat 1. T does not live on the fourth floor

but in flat 1. N lives in even numbered flat. M and O live in flat 1 but on different floors.

Question No. 39

Who lives two floor below the floor on which S lives in the same flat number?

Options :

1. M

2. R

3. O

4. Q

5. None of these

Answer : Q

Direction:

Answer the following questions according to the given statements:

There are eight persons M, N, O, P, Q, R, S, and T, who live on four different floors among floor 1, floor 2, floor 3 and

floor 4. Each floor has two different flats viz. flat 1 and flat 2. There are 2 flats on each floor flat 1 – flat 2 from left to

right in such a way that flat 1 of the fourth floor is exactly above flat 1 of the third floor and flat 1 of the third floor is

exactly above flat 1 of the second floor and other flats are situated in the same way.

O lives one floor above the floor on which N lives. R lives with N who lives two floors below P. N lives on the second

floor. Q lives in flat 2 of the first floor. S lives on the third floor but not in flat 1. T does not live on the fourth floor

but in flat 1. N lives in even numbered flat. M and O live in flat 1 but on different floors.

Question No. 40
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Who live in the flat 1 of floor 2?

Options :

1. N

2. O

3. R

4. M

5. S

Answer : R

Direction:

Study the information given below and answer the questions that follow:

In a certain code language,   

“want to capture me” is coded as “js bs es ks”.

‘‘capture me not now” is coded as “rs bs as js”.

‘‘come now by heaven” is coded as “us ws xs as”.

“heaven come first” is written as “ws qs xs”.

Question No. 41

How can ‘come first in’ be written as in the above code language?

Options :

1. ws ss qs

2. ss ws xs

3. qs ws ss

4. either 1 or 3

5. None of these

Answer : either 1 or 3

Direction:

LIC ADO Prelims 2019 Previous Year Paper



Study the information given below and answer the questions that follow:

In a certain code language,   

“want to capture me” is coded as “js bs es ks”.

‘‘capture me not now” is coded as “rs bs as js”.

‘‘come now by heaven” is coded as “us ws xs as”.

“heaven come first” is written as “ws qs xs”.

Question No. 42

If ‘capture’ is written as ‘bs’, ‘want’ is written as ‘es’ and ‘heaven’ is written as ‘ws’, how will be ‘come to me’ written

as in the given code language?

Options :

1. js ks xs

2. js as ks

3. rs xs qs

4. us as ks

5. Cannot be determined

Answer : js ks xs

Direction:

Study the information given below and answer the questions that follow:

In a certain code language,   

“donkey was not hurt” is coded as “lm bm im hm”.

‘‘not hurt to anyone” is coded as “zm bm vm lm”.

‘‘there anyone can do” is coded as “jm dm ym vm”.

“do there work” is written as “dm rm ym”.
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Question No. 43

What is the code for "work"?

Options :

1. ym

2. rm

3. bm

4. either 1 or 2

5. None of these

Answer : rm

Direction:

Study the information given below and answer the questions that follow:

In a certain code language,   

“donkey was not hurt” is coded as “lm bm im hm”.

‘‘not hurt to anyone” is coded as “zm bm vm lm”.

‘‘there anyone can do” is coded as “jm dm ym vm”.

“do there work” is written as “dm rm ym”.

Question No. 44

If ‘hurt’ is written as ‘bm’, ‘donkey’ is written as ‘hm’ and ‘do’ is written as ‘dm’, how will be ‘was not there’ written as

in the given code language?

Options :

1. ym lm im

2. im vm ym

3. lm zm jm

4. rm im lm
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5. Cannot be determined

Answer : ym lm im

Direction:

Study the information given below and answer the questions that follow:

In a certain code language, 

“glass break very easily” is written as ‘css lss jss mss’

“very easily do work” is written as ‘kss css rss lss’

“his work can do” is written as ‘rss dss kss ass’

“his job do best” is written as ‘kss ass hss xss’

Question No. 45

Which of the following can be a code for ‘can do best’?

Options :

1. hss kss dss

2. ass dss xss

3. rss kss dss

4. dss mss jss

5. None of these

Answer : hss kss dss

Direction:
In the following question assuming the given statements to be true, find which of the option among the given options
is/are definitely true and then give your answers accordingly-:

Question No. 46

Statement: 

C ≥ M ≥ Y > Z > A, Y
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Conclusions:

I. C > A

II. A

Options :

1. Only I follow

2. Only II follow

3. Either I or II follow

4. Neither I nor II follow

5. Both I and II follow

Answer : Both I and II follow

Direction:
In these questions, relationship between different elements is shown in the statements. These statements are
followed by two conclusions:

Question No. 47

Statements: J = N, K

Conclusion:

I. N ≤ M

II. L > N

Options :

1. If only conclusion I follows.

2. If only conclusion II follows

3. If either conclusion I or II follows

4. If neither conclusion I nor II follows.

5. If both conclusion I and II follow.

Answer : If both conclusion I and II follow.

Direction:
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In these questions, relationship between different elements is shown in the statements. These statements are
followed by two conclusions:

Question No. 48

Statements: H ≥ R, T I

Conclusion:

I. R > I

II. N ≥ T

Options :

1. If only conclusion I follows.

2. If only conclusion II follows

3. If either conclusion I or II follows

4. If neither conclusion I nor II follows.

5. If both conclusion I and II follow.

Answer : If neither conclusion I nor II follows.

Direction:
In these questions, relationship between different elements is shown in the statements. These statements are
followed by two conclusions:

Question No. 49

Statements: T > U, V > W, U = X, R ≥ X, V = R

Conclusion:

I. T ≥ W

II. W > T

Options :

1. If only conclusion I follows.

2. If only conclusion II follows
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3. If either conclusion I or II follows

4. If neither conclusion I nor II follows.

5. If both conclusion I and II follow.

Answer : If either conclusion I or II follows

Direction:
Read the given information carefully and answer the following questions.

R is father of W and P is mother of R. V is sister of U whose daughter is Y. T who is the husband of P is the

grandfather of Y. T has only two children. Q is a sister of R. U is married to R. T has only one son.

Question No. 50

What is the relation between U and T?

Options :

1. U is daughter of T

2. U is sister of T

3. U is son of T

4. U is daughter in law of T

5. None of these

Answer : U is daughter in law of T

Direction:
Read the given information carefully and answer the following questions.

R is father of W and P is mother of R. V is sister of U whose daughter is Y. T who is the husband of P is the

grandfather of Y. T has only two children. Q is a sister of R. U is married to R. T has only one son.

Question No. 51

How V is related to W?

Options :

1. Sister
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2. Brother

3. Aunt

4. Grandmother

5. None of these

Answer : Aunt

Direction:
Read the given information carefully and answer the following questions.

R is father of W and P is mother of R. V is sister of U whose daughter is Y. T who is the husband of P is the

grandfather of Y. T has only two children. Q is a sister of R. U is married to R. T has only one son.

Question No. 52

How Y is related to P?

Options :

1. Daughter

2. Sister

3. Grand Daughter

4. Son

5. Aunt

Answer : Grand Daughter

Direction:
Read the given information carefully and answer the following questions.

S, T, U, V, W and Y are six family members. S and T are a married couple. W is sister of V. T is daughter-in-law of Y,

who is grandmother of W’s brother. V is the only son of U, who is brother of S.

Question No. 53

What is the relation of T with V?

Options :
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1. Brother

2. Mother

3. Uncle

4. Aunt

5. None of these

Answer : Aunt

Question No. 54

Select the option that is related to the third number in the same way as the second number is related to first number
and the sixth number is related to the fifth number.

24: 41:: 65 : ? :: 36: 53

Options :

1. 82

2. 93

3. 94

4. 83

5. None of these

Answer : 82

Question No. 55

Select the option that is related to the third number in the same way as the second number is related to first number
and the sixth number is related to the fifth number.

35: 52:: 76 : ? :: 47: 64

Options :

1. 82

2. 93

3. 94

4. 83

5. None of these
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Answer : 93

Direction:
Study the following information carefully and answer the questions given below.

Eight persons viz. A, B, C, D, E, F, G and H are sitting around a circular table facing the centre but not necessarily in

the same order. Both D and G are immediate neighbors. E sits third to the right of D and second to the left of C. The

number of persons sitting between C and G is the same as the number of persons sitting between E and A. One

person sits between H and F, who sits to the immediate left of A.

Question No. 56

Who among the following person sits second to the left of F?

Options :

1. A

2. H

3. B

4. D

5. None of these

Answer : H

Direction:
Study the following information carefully and answer the questions given below.

Eight persons viz. A, B, C, D, E, F, G and H are sitting around a circular table facing the centre but not necessarily in

the same order. Both D and G are immediate neighbors. E sits third to the right of D and second to the left of C. The

number of persons sitting between C and G is the same as the number of persons sitting between E and A. One

person sits between H and F, who sits to the immediate left of A.

Question No. 57

What is the position of A with respect to C?

Options :

1. Second to the right
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2. Third to the left

3. Immediate right

4. Fourth to the left

5. None of these

Answer : Second to the right

Direction:
Study the following information carefully and answer the questions given below.

Eight persons viz. A, B, C, D, E, F, G and H are sitting around a circular table facing the centre but not necessarily in

the same order. Both D and G are immediate neighbors. E sits third to the right of D and second to the left of C. The

number of persons sitting between C and G is the same as the number of persons sitting between E and A. One

person sits between H and F, who sits to the immediate left of A.

Question No. 58

If all the persons are made to sit in alphabetical order in a clockwise direction with respect to A, then how many
persons remain unchanged in their position (excluding A)?

Options :

1. One

2. Two

3. Three

4. More than three

5. None

Answer : Three

Direction:
Study the following information carefully and answer the questions given below.

Eight persons viz. A, B, C, D, E, F, G and H are sitting around a circular table facing the centre but not necessarily in

the same order. Both D and G are immediate neighbors. E sits third to the right of D and second to the left of C. The

number of persons sitting between C and G is the same as the number of persons sitting between E and A. One

person sits between H and F, who sits to the immediate left of A.
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Question No. 59

If C is related to H and G is related to D in a certain way, then who among the following person is related to B?

Options :

1. E

2. F

3. A

4. G

5. None of these

Answer : E

Direction:
Study the following information carefully and answer the questions given below.

Eight persons viz. A, B, C, D, E, F, G and H are sitting around a circular table facing the centre but not necessarily in

the same order. Both D and G are immediate neighbors. E sits third to the right of D and second to the left of C. The

number of persons sitting between C and G is the same as the number of persons sitting between E and A. One

person sits between H and F, who sits to the immediate left of A.

Question No. 60

How many persons sit between D and B, when counted from the left of D?

Options :

1. One

2. Two

3. Three

4. More than three

5. None

Answer : More than three

Question No. 61
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 If in a word ‘OXFORD’ each letter that comes before 'N' in alphabet series changes to next letter and each letter

that comes after 'N' changes to previous letter then which letter comes at sixth from left?

Options :

1. E

2. Q

3. N

4. R

5. D

Answer : E

Question No. 62

Select the option that is related to the third number in the same way as the second number is related to first number
and the sixth number is related to the fifth number.

69: 86:: 45 : ? :: 53: 70

Options :

1. 71

2. 62

3. 76

4. 53

5. None of these

Answer : 62

Question No. 63

Select the option that is related to the third number in the same way as the second number is related to first number
and the sixth number is related to the fifth number.

33: 50:: 59 : ? :: 38: 55

Options :

1. 71
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2. 62

3. 76

4. 53

5. None of these

Answer : 76

Question No. 64

If in a word ‘BAREFOOT’ each letter that comes before 'N' in alphabet series changes to next letter and each

letter that comes after 'N' changes to previous letter then which letter comes at second from left?

Options :

1. N

2. B

3. R

4. Q

5. G

Answer : B

Question No. 65

If in a word ‘UMBRELLA’ each letter that comes before 'N' in alphabet series changes to next letter and each

letter that comes after 'N' changes to previous letter, then how many letters are repeating itself?

Options :

1. One

2. Three

3. Four

4. Two

5. None

Answer : One

Direction:
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Study the following arrangement carefully and answer the questions given below: 

G 7 2 N 3 * C % U D # 6 A δ 5 V B 8 π 8 $ J L E 9 + M I 4

Question No. 66

Which of the following is exactly in the middle between E and N in the above arrangement?

Options :

1. V

2. δ

3. A

4. 5

5. None of these

Answer : δ

Question No. 67

Select the option that is related to the third number in the same way as the second number is related to first

number and the sixth number is related to the fifth number.

65: 30 :: 74 : ? :: 92: 10

Options :

1. 28

2. 30

3. 24

4. 22

5. None of these

Answer : 24

Direction:
Study the following information carefully and answer the questions given below.
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Six persons have different heights. Heema is taller than Parvati and Saby, which is not the shortest person. As many

persons are taller than Usha is one more than the persons are shorter than Usha. Rita is taller than Tejas and Heema.

The tallest person’s height is 170 cm. Heema is not the second tallest person. The second shortest person’s height is

130 cm.

Question No. 68

Which of the following person is the third shortest?

Options :

1. Parvati

2. Heema

3. Rita

4. Saby

5. Usha

Answer : Usha

Direction:
Study the following information carefully and answer the questions given below.

Six persons have different heights. Heema is taller than Parvati and Saby, which is not the shortest person. As many

persons are taller than Usha is one more than the persons are shorter than Usha. Rita is taller than Tejas and Heema.

The tallest person’s height is 170 cm. Heema is not the second tallest person. The second shortest person’s height is

130 cm.

Question No. 69

What is the possible height of the shortest person?

Options :

1. 140cm

2. 180cm

3. 160cm

4. 150cm
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5. 120cm

Answer : 120cm

Direction:
Study the following information carefully and answer the questions given below.

Six persons have different heights. Heema is taller than Parvati and Saby, which is not the shortest person. As many

persons are taller than Usha is one more than the persons are shorter than Usha. Rita is taller than Tejas and Heema.

The tallest person’s height is 170 cm. Heema is not the second tallest person. The second shortest person’s height is

130 cm.

Question No. 70

How many persons are shorter than Parvati?

Options :

1. One

2. Two

3. None

4. Three

5. Cannot be determined

Answer : None

Direction:
Direction: Read each sentence to find out whether there is any error in it. The error, if any, will  be in one part of
the sentence. Mark the part with the error as your answer. If there is no error, mark "No Error" as your answer.
(Ignore the errors of punctuation).

Question No. 71

The new guidelines include amending the automatic approval list by significantly expending the role of the Foreign

Investment Promotion Board.

Options :

1. The new guidelines include
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2. amending the automatic approval list

3. by significantly expending the role of the

4. Foreign Investment Promotion Board

5. No error

Answer : by significantly expending the role of the

Direction:
Read each sentence to find out whether there is any error in it. The error, if any, will  be in one part of the sentence.
Mark the part with the error as your answer. If there is no error, mark "No Error" as your answer. (Ignore the
errors of punctuation).

Question No. 72

The State is ahead in the   agriculture sector and is expected to become self-reliant in food grain production in

three to four years.

Options :

1. The State is ahead

2. in the agriculture sector

3. and is expected to become self-reliant

4. in food grain production in three to four years

5. No error

Answer : No error

Direction:
 Read each sentence to find out whether there is any error in it. The error, if any, will  be in one part of the
sentence. Mark the part with the error as your answer. If there is no error, mark "No Error" as your answer.
(Ignore the errors of punctuation).

Question No. 73

We need to have appetite for change, and the courage for change, and we need the census to do so.

Options :

1. We need to have appetite
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2. for change, and the courage

3. for change, and we need

4. the census to do so

5. No error

Answer : the census to do so

Direction:
Read each sentence to find out whether there is any error in it. The error, if any, will  be in one part of the sentence.
Mark the part with the error as your answer. If there is no error, mark "No Error" as your answer. (Ignore the
errors of punctuation).

Question No. 74

Tripura is one of those State that got national awards for record food grain production in 2010-11.

Options :

1. Tripura is one of those State

2. that got

3. national awards for

4. record food grain production in 2010-11

5. No error

Answer : Tripura is one of those State

Direction:
Seven statements are given below, which are jumbled in any random order. Only the fourth statement (d), which
has been emboldened, is in its correct place. These statements will form a coherent and meaningful paragraph,
when arranged in the correct sequence. Arrange the sentences in the right order and answer the questions that
follow.

(a) The Group acted on its commissioned study to examine the ethical issues flagged in preparing the 2018 and

2020 editions of the EDB index.

(b) As Chief Executive Officer of the World Bank in 2018, Ms. Georgieva is accused of having exerted pressure on

the internal team working on the Doing Business report.

(c) This report publishes the influential annual ranking of countries on the Ease of Doing Business index.

(d) The allegation surrounding Kristalina Georgieva, Managing Director of the International Monetary Fund, is the
proximate reason for scrapping the publication.
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(e) On September 16, the World Bank Group scrapped its flagship publication, the ‘Doing Business’ report.

(f) Similarly, tensions were also reportedly brought to bear in the case of Saudi Arabia’s rank, among others.

(g) This was done to falsely boost China’s rank by doctoring the underlying data.

Question No. 75

Which of the following is the third sentence of the passage?

Options :

1. g

2. f

3. d

4. c

5. a

Answer : a

Direction:
Seven statements are given below, which are jumbled in any random order. Only the fourth statement (d), which
has been emboldened, is in its correct place. These statements will form a coherent and meaningful paragraph,
when arranged in the correct sequence. Arrange the sentences in the right order and answer the questions that
follow.

(a) The Group acted on its commissioned study to examine the ethical issues flagged in preparing the 2018 and

2020 editions of the EDB index.

(b) As Chief Executive Officer of the World Bank in 2018, Ms. Georgieva is accused of having exerted pressure on

the internal team working on the Doing Business report.

(c) This report publishes the influential annual ranking of countries on the Ease of Doing Business (EDB) index.

(d) The allegation surrounding Kristalina Georgieva, Managing Director of the International Monetary Fund, is the
proximate reason for scrapping the publication.

(e) On September 16, the World Bank Group scrapped its flagship publication, the ‘Doing Business’ report.

(f) Similarly, tensions were also reportedly brought to bear in the case of Saudi Arabia’s rank, among others.

(g) This was done to falsely boost China’s rank by doctoring the underlying data.
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Question No. 76

Which of the following is the fifth sentence of the passage?

Options :

1. e

2. f

3. a

4. c

5. b

Answer : b

Direction:
Seven statements are given below, which are jumbled in any random order. Only the fourth statement (d), which
has been emboldened, is in its correct place. These statements will form a coherent and meaningful paragraph,
when arranged in the correct sequence. Arrange the sentences in the right order and answer the questions that
follow.

(a) The Group acted on its commissioned study to examine the ethical issues flagged in preparing the 2018 and

2020 editions of the EDB index.

(b) As Chief Executive Officer of the World Bank in 2018, Ms. Georgieva is accused of having exerted pressure on

the internal team working on the Doing Business report.

(c) This report publishes the influential annual ranking of countries on the Ease of Doing Business index.

(d) The allegation surrounding Kristalina Georgieva, Managing Director of the International Monetary Fund, is the
proximate reason for scrapping the publication.

(e) On September 16, the World Bank Group scrapped its flagship publication, the ‘Doing Business’ report.

(f) Similarly, tensions were also reportedly brought to bear in the case of Saudi Arabia’s rank, among others.

(g) This was done to falsely boost China’s rank by doctoring the underlying data.

Question No. 77

Which of the following is the second sentence of the passage?
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Options :

1. f

2. d

3. a

4. c

5. b

Answer : c

Direction:
Seven statements are given below, which are jumbled in any random order. Only the fourth statement (d), which
has been emboldened, is in its correct place. These statements will form a coherent and meaningful paragraph,
when arranged in the correct sequence. Arrange the sentences in the right order and answer the questions that
follow.

(a) The Group acted on its commissioned study to examine the ethical issues flagged in preparing the 2018 and

2020 editions of the EDB index.

(b) As Chief Executive Officer of the World Bank in 2018, Ms. Georgieva is accused of having exerted pressure on

the internal team working on the Doing Business report.

(c) This report publishes the influential annual ranking of countries on the Ease of Doing Business index.

(d) The allegation surrounding Kristalina Georgieva, Managing Director of the International Monetary Fund, is the
proximate reason for scrapping the publication.

(e) On September 16, the World Bank Group scrapped its flagship publication, the ‘Doing Business’ report.

(f) Similarly, tensions were also reportedly brought to bear in the case of Saudi Arabia’s rank, among others.

(g) This was done to falsely boost China’s rank by doctoring the underlying data.

Question No. 78

Which of the following is the seventh (last) sentence of the passage?

Options :

1. d

2. f
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3. e

4. b

5. c

Answer : f

Direction:
Seven statements are given below, which are jumbled in any random order. Only the fourth statement (d), which
has been emboldened, is in its correct place. These statements will form a coherent and meaningful paragraph,
when arranged in the correct sequence. Arrange the sentences in the right order and answer the questions that
follow.

(a) The Group acted on its commissioned study to examine the ethical issues flagged in preparing the 2018 and

2020 editions of the EDB index.

(b) As Chief Executive Officer of the World Bank in 2018, Ms. Georgieva is accused of having exerted pressure on

the internal team working on the Doing Business report.

(c) This report publishes the influential annual ranking of countries on the Ease of Doing Business index.

(d) The allegation surrounding Kristalina Georgieva, Managing Director of the International Monetary Fund, is the
proximate reason for scrapping the publication.

(e) On September 16, the World Bank Group scrapped its flagship publication, the ‘Doing Business’ report.

(f) Similarly, tensions were also reportedly brought to bear in the case of Saudi Arabia’s rank, among others.

(g) This was done to falsely boost China’s rank by doctoring the underlying data.

Question No. 79

Which of the following is the sixth sentence of the passage?

Options :

1. e

2. f

3. g

4. c

5. d
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Answer : g

Direction:
In the following questions, each sentence has two blanks. Choose the appropriate set of words for the blanks that
best fits in the context of the sentence.

Question No. 80

All of us __________ deeply absorbed in happy reminiscences.                   

Options :

1. were

2. was

3. is

4. has been

5. None of these

Answer : were

Direction:
In each of the following sentences, there is a blank space. Below each such sentence, there are five options with one
word each. Fill up the blank with the word that makes the sentence grammatically and contextually correct.  If
none of these words fit well, mark your answer as none of these.

Question No. 81

Control of federal dollars ______ an old issue.

Options :

1. were

2. are

3. is

4. have

5. None of these

Answer : is

Direction:
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In the following questions, each sentence has two blanks. Choose the appropriate set of words for the blanks that
best fits in the context of the sentence.

Question No. 82

Either of the plans __________ equally dangerous.                 

Options :

1. will

2. is

3. are

4. have been

5. None of these

Answer : is

Direction:
In the following questions, each sentence has two blanks. Choose the appropriate set of words for the blanks that
best fits in the context of the sentence.

Question No. 83

The actor and dancer ______________ tomorrow to inaugurate the academy.

Options :

1. was coming

2. were coming

3. are coming

4. is coming

5. None of these

Answer : is coming

Direction:
In the following questions, each sentence has two blanks. Choose the appropriate set of words for the blanks that
best fits in the context of the sentence.

Question No. 84
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The serving bowl or the plates __________ on that shelf.

Options :

1. go

2. decorate

3. lines up

4. move

5. None of these

Answer : go

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

                            

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.
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I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 85

What does the book by Anne Summers present in front of the people?

Options :

1. The book hails the heroic actions of the British nurse Florence Nightingale.

2. The book talks about the freedom struggle of Florence Nightingale.

3. The book defies all the usual glorification of Florence Nightingale and presents a contrasting and realistic

view on the heroic reputation created by people.

4. Both 1 and 2

5. None of the above

Answer : The book defies all the usual glorification of Florence Nightingale and presents a contrasting and realistic

view on the heroic reputation created by people.

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.
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By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.

I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 86

Which of the following words appears most opposite in meaning to the word debunk as used in the passage?

Options :

1. Uphold

2. Disprove

3. Reject

4. Report

5. None of the above

Answer : Uphold

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not
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until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.

I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 87

Why does writer Anne Summers speak against Nightingale’s usual reputation?

Options :

1. The writer feels Nightingale’s image is not clear in front of the people because of which she is wrongly

considered as a hero.

2. The writer feels that the heroic image of Nightingale has been misrepresented and that her role in the

Crimean War has been given unnecessary hype and she was not made the head of nurses until the end of

the war..

3. The writer feels that Florence Nightingale has not really been as active as others consider her to be.
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4. All of the above

5. None of the above

Answer : The writer feels that the heroic image of Nightingale has been misrepresented and that her role in the

Crimean War has been given unnecessary hype and she was not made the head of nurses until the end of the war..

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.

I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.
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Question No. 88

Which of the following words appears similar in meaning to the word exaggerated as used in the passage?

Options :

1. Approved

2. Attracted

3. Overestimated

4. Hidden

5. None of the above

Answer : Overestimated

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.
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I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 89

Which of the following statements is / are completely true according to the information given in the passage?

Options :

1. Florence Nightingale was a freedom fighter.

2. The Army personnel favoured Nightingale.

3. A book was published solely to glorify Nightingale.

4. Florence Nightingale was a famous British nurse in the Army

5. None of the above

Answer : Florence Nightingale was a famous British nurse in the Army

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks
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were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.

I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 90

Which of the following words appears most opposite in meaning to the word subsequent as used in the passage?

Options :

1. Forward

2. Proceeding

3. Previous

4. Next

5. None of the above

Answer : Previous

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could
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be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.

I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 91

Florence Nightingale rejected the Government's idea to establish a Royal Commission on the Health of the Army.

According to the passage, this statement is-

Options :

1. Definitely True

2. Probably False

3. Probably True

4. Definitely False

5. None of the above

Answer : Definitely False

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.
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Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.

I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 92

Which of the following words appears similar in meaning to the word persuading as used in the passage?

Options :

1. Forcing

2. Pushing

3. Declining
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4. Convincing

5. None of the above

Answer : Convincing

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.

I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 93
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Which of the following statements show that Florence Nightingale possessed great practical intelligence?

 

Options :

1. She devised some innovative educational methods.

2. She was one step ahead in her work and observations.

3. She invented the cost-accounting system which was being used by the British Army until 1947.

4. She designed many more scientific inventions.

5. None of the above

Answer : She invented the cost-accounting system which was being used by the British Army until 1947.

Direction:
Directions : Read the following passage and answer the following questions. Some words have been highlighted to
help you answer some of the questions.

Two recent publications offer different assessments of the career of the famous British nurse Florence Nightingale.

A book by Anne Summers seeks to debunk the idealizations and present a reality at odds with Nightingale's heroic

reputation. According to Summers, Nightingale's importance during the Crimean War has been exaggerated: not

until near the wars end did she become supervisor of the female nurses. Additionally, Summers writes that the

contribution of the nurses to the relief of the wounded was at best marginal. The prevailing problems of military

medicine were caused by army organizational practices, and the addition of a few nurses to the medical staff could

be no more than symbolic. Nightingales' place in the national pantheon, Summers asserts, is largely due to the

propagandistic efforts of contemporary newspaper reporters.

By contrast, the editors of the new volume of Nightingale’s letters view Nightingale as a person who significantly

influenced not only her own age but also subsequent generations. They highlight her ongoing efforts to reform

sanitary conditions after the war. For example, when she learned that peacetime living conditions in British barracks

were so horrible that the death rate of enlisted men far exceeded that of neighboring civilian populations, she

succeeded in persuading the government to establish a Royal Commission on the Health of the Army. She used

sums raised through public contributions to found a nurse's training hospital in London. Even in administrative

matters, the editors assert, her practical intelligence was formidable: as recently as 1947 the British Army's medical

services were still using the cost-accounting system she devised in the 1860s.
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I believe that the evidence of her letters supports continued respect for Nightingale's brilliance and creativity.

When counseling a village schoolmaster to encourage children to use their faculties of observation, she sounds like

a modern educator. Her insistence on classifying the problems of the needy in order to devise appropriate

treatments is similar to the approach of modern social workers. In sum, although Nightingale may not have

achieved all of her goals during the Crimean War, her breadth of vision and ability to realize ambitious projects

have earned her an eminent place among the ranks of social pioneers.

Question No. 94

How did the editors of the new volume of Nightingale’s letters portray her?

Options :

1. According to the letters, Nightingale left a strong mark over not only her own generation but on many

more future generations.

2. The letters showcase her practical intelligence and her efforts made in the direction of sanitary hygiene.

3. According to the letters Florence Nightingale was a kind-hearted person.

4. Both 1 & 2

5. None of the above

Answer : Both 1 &amp; 2

Direction:
In each of the following questions, a word has been used in sentences in THREE different ways. Choose the option
corresponding to the sentences in which the usage of the word is CORRECT or APPROPRIATE.

Question No. 95

RESURGENCE

I. The resurgence of INDIAN subcontinental civilisational cultural awakening will act as a symbol of true humanity

accepting diversity while maintaining HARMONY.

II. The city was being hurt by the new interstate bypassing it, so the council worked on plans to bring a resurgence

of visitors.
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III. The public bonhomie between Modi and Trump resurgence by the world at the Houston rally and the bilateral

meeting later last month in the US has further strengthened Indian hand in its dealings with other powers including

China.  

Options :

1. Only I

2. Both I & II

3. Only III

4. Both II & III

5. None of these

Answer : Both I &amp; II

Direction:
In each of the following questions, a word has been used in sentences in THREE different ways. Choose the option
corresponding to the sentences in which the usage of the word is CORRECT or APPROPRIATE.

Question No. 96

SUBMISSIVE

I. The nation was submissive, and a few scattered plots alone showed that republican ideas persisted among the

masses.

II. In many cases sober convictions or submissive assent supplied the want of spontaneous enthusiasm.

III. China’s current GDP is five times India’s, its military modernization submissive  it has outstripped India in military

strength, and it is drawing close to the US in tech prowess.

Options :

1. Only II

2. Only I

3. Both I & II

4. Both III & I

5. None of these

Answer : Both I &amp; II
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Direction:
In each of the following questions, a word has been used in sentences in THREE different ways. Choose the option
corresponding to the sentences in which the usage of the word is CORRECT or APPROPRIATE.

Question No. 97

ENDEAVOUR

I. A total switch to solar and wind energy is impossible since these are endeavour only intermittently when the sun

shines and wind blows, maybe 25% of the year on an average.

II. Special interest attaches to experiments made in the United States to endeavour to raise races of cotton

resistant to the boll weevil.

III. With declining cigarette endeavour globally, cigarette companies introduced e-cigarettes to remain profitable.

Options :

1. Only III

2. Only II

3. Both I & III

4. Only I

5. None of these

Answer : Only II

Direction:
In each of the following sentences given below, four words have been printed in bold which are numbered (1), (2),
(3) and (4). One of these words may be misspelt or inappropriate in the context of the sentence. Find out the
wrongly spelt or inappropriate word. The number of that word is the answer. If all the words are correctly spelt
and are appropriate, then, the answer is (5), i.e., ‘All are correct’.

Question No. 98

The institution of marriage takes a bizare turn when marriage for the girl is equated to getting crucified.

Options :

1. crucified

2. institution
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3. bizare

4. equated

5. All are correct

Answer : bizare

Direction:
In each of the following sentences given below, four words have been printed in bold which are numbered (1), (2),
(3) and (4). One of these words may be misspelt or inappropriate in the context of the sentence. Find out the
wrongly spelt or inappropriate word. The number of that word is the answer. If all the words are correctly spelt
and are appropriate, then, the answer is (5), i.e., ‘All are correct’.

Question No. 99

Creating a market for certified labour force will ensure better wages for those who are certified vursus those who

are not.

Options :

1. vursus

2. certified

3. wages

4. ensure

5. All are correct

Answer : vursus

Direction:
In each of the following sentences given below, four words have been printed in bold which are numbered (1), (2),
(3) and (4). One of these words may be misspelt or inappropriate in the context of the sentence. Find out the
wrongly spelt or inappropriate word. The number of that word is the answer. If all the words are correctly spelt
and are appropriate, then, the answer is (5), i.e., ‘All are correct’.

Question No. 100

With the finished product reflecting the quality of an independent film, a growing number of filmmakers have

applied there skills to wedding videography.

Options :

LIC ADO Prelims 2019 Previous Year Paper



1. independent

2. there

3. reflecting

4. videography

5. All are correct

Answer : there
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